
STAINLESS 
STEEL &  
METAL  

MOTOR  
BASE

•	�The Blend & Mix is specially designed for foods with modified textures without altering 

the nutritional and taste qualities. It is an indispensable tool for preparations with a 

modified and smooth structure, raw or cooked. This device is the essential partner of 

collective kitchens (nursing homes, hospitals, schools, etc.). Variable speed from 350 to 

3500 rpm. PULSE and REVERSE functions. 5.4 litres stainless steel bowl (rated capacity) 

+ Copolyester Tritan and  waterproof cover without BPA (Bisphenol A), equipped with 

an integrated manual scraper arm to avoid waste and for improved blending. Optimal 

tank chimney height. Quick release system with clip fasteners (patent pending). Ability 

to add ingredients during preparation without opening the lid.

•	�An induction motor, integrated in the metal motor block, with a power of  

1100 W and a single-phased power supply of 220 - 240 V. Easy-to-use control panel.

•	�All parts in contact with food are easily removable and dishwasher-proof for quick 

cleaning.

•	�Magnetic detection which prevents the appliance from starting if an anomaly is 

detected. The appliance stops as soon as it detects any type of inappropriate use.

•	WORKING CAPACITY: from 100g to 4kg.

•	��Supplied with a smooth blade with inverted cutters and a knife with a reversible micro 

toothed blade that allows you to save time and helps preserve sensory properties 

(patented system).

DESCRIPTION

• �Robust and reliable appliance designed for preparing meals for the elderly, 
young children and also hospitalized people. The Blend & Mix allows you to 
make all types of recipes: chopped, mixed in smooth and liquid textures. The 
food nutritional and taste qualities are preserved and intact.

• Supplied with a tank scraper arm.

• Adapted productivity for 20 to 100 covers per service. 

 BLEND&MIX 1100 W.

 �VOLTAGE 220 - 240 V /  
SINGLE-PHASED.

 �CONTROL PANEL.

 ��VARIABLE SPEED FROM 350 RPM TO 
3500 RPM.

 10 SPEED LEVELS.

 �5.4 LITRES STAINLESS STEEL BOWL 
(RATED CAPACITY).

 4.3 LITRES (OPERATING CAPACITY).

 �SMOOTH EDGED BLADE.

 �MICRO-TOOTHED KNIFE.

MAIN CHARACTERISTICS

•	�French design and manufacture, guaranteed quality, robustness and repairability 
- The DYNAMIC Blend & Mix is easily disassembled, repairable and reassembled. 
DYNAMIC guarantees the immediate availability of spare parts.

•	�Thanks to its unique design, this is an extremely versatile and aesthetic device. The 
design is based on users’ real needs: the use of first quality materials (stainless 
steel), thought-out ergonomics, details and tips guaranteeing hygiene and safety 
(patent pending).

•	Upgradeable device into combined vegetable slicer / food processor.

•	�A product designed with sustainable development in mind – 80% of the materials 
used are made from stainless steel and aluminium.

ADVANTAGES

Dynamic - 518 rue Léo Baekeland BP57 - 85290 Mortagne sur Sèvre

Tel : +33 (0)2 51 63 02 72   E-mail : export@dynamicmixers.com

Follow us on our social media accounts !

www.dynamicmixers.com

ELECTRICAL BLEND&MIX
WITH VARIABLE SPEED AND CONTROL PANEL

Ref. : CL422

VARIABLE SPEED
WITH CONTROL PANEL

P

A
TENTE

D

s
ystem



CONSTRUCTION 

• �An induction motor, integrated in the motor block, ensuring robustness and reliability over time.

• �Integrated air vents on the motor unit for good engine ventilation.

• Extremely solid base.

• POWER: 1100 W

• �VOLTAGE : 220 - 240 V / SINGLE-PHASED.

• 10 SPEEDS : 350 R.P.M. to 3500 R.P.M.

• FUNCTIONS : Pulse and Reverse.

• �5.4 litres Stainless steel bowl (rated capacity) or an operating capacity of 4.3 Litres.

• �Copolyester Tritan lid without BPA (Bisphenol A).

• �Conversion 3 in 1 with a vegetable cutter and cutter function.

OPTIONAL ACCESSORIES 

ACCESSORIES INCLUDED

ELECTRICAL BLEND&MIX RANGE /  

WITH VARIABLE SPEED / Ref : CL422

• �CL8002 :  

SERRATED KNIFE:  

for smoothing pasta, 

kneading, grinding, 

making pralines, 

mixing spices.

• �CL9000 : 

VEGETABLE SLICER 

COMPLETE KIT : 

handle, cover, chute, 

pusher  

and ejector.

• 1 x stainless steel bowl with a capacity of 5.4 litres.

• 1 x lid with integrated wiper for 5.4 litres stainless steel bowl.

• �1 smooth knife: for preparing fine stuffing and mousselines, mincing meats, sauces, 
emulsions, butters, duxelles, smooth and modified textures on baked products.

• �1 micro-toothed knife: for chopped herbs, smooth and modified textures on raw 
products.

• Removable, transparent and waterproof lid with opening to add ingredients during preparation.

• All parts in contact with food are easily removable and dishwasher-proof.

• �Easy-to-use waterproof control panel with on/off button, speed adjuster (10 speed levels) and “PULSE” and “REVERSE” 
functions. The “PULSE” function enables grinding and precision work, the “REVERSE” function enables gentle mixing and 
preserves the added ingredient entirely.

• �Automatic magnetic detection on the stainless steel bowl and lid for total operator safety.



3849

CL8001

3850

3855
3856
3857

CL9001

 5
10

m
m

 / 
20

" 

 275mm / 11" 

 5
10

m
m

 / 
20

" 

 505mm / 20" 

 275mm / 11" 

 5
05

m
m

 / 
20

" 

 520mm / 21" 

 7
25

m
m

 / 
28

.5
" 

ITEM NO. Designation Code_vente QTY.
1 Cuve aluminium 0453CL 1
2 Pied 3825 4
3 Socle aluminium 0452CL 1
4 Induit du moteur seul - 1
5 Roulement 0612 2
6 Tôle stator de moteur de CL - 1
7 Turbine de moteur 385119 1
8 Rondelle élastique ondulée D47 385118 1
9 Insert de turbine 385120 1

10 Carter inférieur alu 0454CL 1
11 Goupille 5x24 0763 1
12 Axe de moteur 0811CL 1
13 Goupille 5x28 0764 1
14 Rondelle plate A2 série M d4 1304 15
15 Vis CHC M5x100 inox A2 079988 4
16 Joint à lèvre 40x28x7 0600CL 1
17 Support de variateur 385121 1
18 Variateur 230V MONO 9392.2 1
19 Vis CHC M4x20 079992 3
20 Ecrou frein M4 079987 1
21 Vis CHC M4x8 A2 079986 7
22 Support de capteur 385111 3
23 Capteur 3822 4
24 Ecroun bas M8 - 8
25 Support de capteur de poignée 385112 1
26 Support de carte à bouton 3806 1
27 Circuit à boutons 3801 1
28 Vis à tôle TCB 2.9x9.5 inox 079925 5
29 Etiquette 1 vitesse ETIQ0070 1
30 Serre-câble 3823 1
31 Cordon d'alimentation 3820 1
32 Palier d'axe de blocage 385115 1
33 Axe de blocage 385117 1
34 Boule d'axe 385114 1
35 Ressort d'axe de blocage 385116 1
36 Passe-fil D8 3824 1
37 Axe de pince 385113 2
38 Goupille 3x20 0744 2
39 Bouchon D13 119965G 4
40 Pince fermée 385106 1
41 Couvercle de pince 385106 1
42 Vis M6x20 0796 2
43 VIS TFHC M6x30 079985 2
44 Bol 3832 1
45 Cheminée 3832 1
46 Douille à souder M4 3832 3
47 Doulle à souder M5 3832 2
48 Poignée de bol 3833 1
49 Aimant 8x4 079948 3
50 Vis TF M5x12 9078 2
51 Vis TFB M4x10 A2 DIN966 079920 3
52 Détrompeur 3839 1
53 Couvercle 3836 1
54 Bouchon de couvercle 119966 2
55 Joint de couvercle 0668 1
56 Fermoir 3837 1
57 Verseur 3834 1
58 Racloir 3835 1
59 Joint du racleur - 1
60 Support de couteau 3831 1
61 Lame basse du couteau 3831 1
62 Lame haute du couteau 3831 1
63 Bouchon de couteau 3830 1

Ce plan ne peut être reproduit ou communiqué à des tiers sans notre autorisation écrite

Matière : 1:5

CL_CL200

CL200

-
Rep Date Rev Ver App

Tol Gén : Echelle :
Dessiné

Vérifié
Approuvé
Code n° Date

0 03/07/2019 NL Original

NL 03/07/2019

Cutter 1 vitesse
PLAN N° :

3849

CL8001

3850

3855
3856
3857

CL9001

 5
10

m
m

 / 
20

" 

 275mm / 11" 

 5
10

m
m

 / 
20

" 

 505mm / 20" 

 275mm / 11" 

 5
05

m
m

 / 
20

" 

 520mm / 21" 

 7
25

m
m

 / 
28

.5
" 

ITEM NO. Designation Code_vente QTY.
1 Cuve aluminium 0453CL 1
2 Pied 3825 4
3 Socle aluminium 0452CL 1
4 Induit du moteur seul - 1
5 Roulement 0612 2
6 Tôle stator de moteur de CL - 1
7 Turbine de moteur 385119 1
8 Rondelle élastique ondulée D47 385118 1
9 Insert de turbine 385120 1

10 Carter inférieur alu 0454CL 1
11 Goupille 5x24 0763 1
12 Axe de moteur 0811CL 1
13 Goupille 5x28 0764 1
14 Rondelle plate A2 série M d4 1304 15
15 Vis CHC M5x100 inox A2 079988 4
16 Joint à lèvre 40x28x7 0600CL 1
17 Support de variateur 385121 1
18 Variateur 230V MONO 9392.2 1
19 Vis CHC M4x20 079992 3
20 Ecrou frein M4 079987 1
21 Vis CHC M4x8 A2 079986 7
22 Support de capteur 385111 3
23 Capteur 3822 4
24 Ecroun bas M8 - 8
25 Support de capteur de poignée 385112 1
26 Support de carte à bouton 3806 1
27 Circuit à boutons 3801 1
28 Vis à tôle TCB 2.9x9.5 inox 079925 5
29 Etiquette 1 vitesse ETIQ0070 1
30 Serre-câble 3823 1
31 Cordon d'alimentation 3820 1
32 Palier d'axe de blocage 385115 1
33 Axe de blocage 385117 1
34 Boule d'axe 385114 1
35 Ressort d'axe de blocage 385116 1
36 Passe-fil D8 3824 1
37 Axe de pince 385113 2
38 Goupille 3x20 0744 2
39 Bouchon D13 119965G 4
40 Pince fermée 385106 1
41 Couvercle de pince 385106 1
42 Vis M6x20 0796 2
43 VIS TFHC M6x30 079985 2
44 Bol 3832 1
45 Cheminée 3832 1
46 Douille à souder M4 3832 3
47 Doulle à souder M5 3832 2
48 Poignée de bol 3833 1
49 Aimant 8x4 079948 3
50 Vis TF M5x12 9078 2
51 Vis TFB M4x10 A2 DIN966 079920 3
52 Détrompeur 3839 1
53 Couvercle 3836 1
54 Bouchon de couvercle 119966 2
55 Joint de couvercle 0668 1
56 Fermoir 3837 1
57 Verseur 3834 1
58 Racloir 3835 1
59 Joint du racleur - 1
60 Support de couteau 3831 1
61 Lame basse du couteau 3831 1
62 Lame haute du couteau 3831 1
63 Bouchon de couteau 3830 1

Ce plan ne peut être reproduit ou communiqué à des tiers sans notre autorisation écrite

Matière : 1:5

CL_CL200

CL200

-
Rep Date Rev Ver App

Tol Gén : Echelle :
Dessiné

Vérifié
Approuvé
Code n° Date

0 03/07/2019 NL Original

NL 03/07/2019

Cutter 1 vitesse
PLAN N° :

FRONT SIDE

TOP

TECHNICAL SPECIFICATIONS 

ELECTRICAL FEATURES

VOLTAGE 220 - 240 V / 50 - 60 Hz

POWER 1100 W

GENERAL INFORMATION

WIDTH   275 mm

HEIGHT  510 mm

DEPTH   505 mm

CUTTER CAPACITY

RATED CAPACITY  5.4 Litres

OPERATING CAPACITY  4.3 Litres

ELECTRICAL BLEND&MIX RANGE /  

WITH VARIABLE SPEED / Ref : CL422


